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Instructions (Read it carefully)
[CIURICGIT (G DR TS RS

Fill up your Examinati istrati i 221xx
Al ion Registration number (08 digits, i.e. :
detaal; In allotted space on OgMR Sheet. Please follow the correct method for dar;ke:lgg
the circle of your choice as mentioned in OMR sheet. Your answer to be ma Ie
OMR sheet by “filling/darkening the circle” with BLACK INK Ball Point Pen only.

(TR AW @GOG T97 (08 e, CITH 221x0000) G2 OMR MG TP
N 1S RAAT 27 BN (@I YGra JaBed Fe FAA Gy TH2AZ I
OMR WG Sfafis S WA BCATI (BIA1A BGA @I BLACK INK Ball
Point Pen MTY "33 ©f%" 312 OMR Sh fBfF® F4rs 2041

xxx) and personal

- No extra OMR Sheet shall be provided to you in any circumstances. If the OMR Sheet is
found defective, please inform the invigilator at the beginning of the examination.

(PN WIHSR (ST (F1H WSFS OMR NG 2= Fa1 =d 11 7% OMR A6
QO @3 T, GOt A1 w3 ATHHE GG |

. You r_\ave to answer all 100 questions. Each question carries 1 mark. There is negative
marking of %2 mark for each wrong answer. Unattempted questions will be marked as ‘0’
mark. All the questions will be in both Bengali and English languages & there will be four
answer options (from A to D) for each question. You have to choose the correct (one)
answer. Few blank sheets are included at the end of this booklet for rough work.

(T 1006 T Tod fire 2@ &S orem W= 11 Al g TSEE G %
N 01 MR | =1 oy S CFTa 2N1es 7719 0 R s 331 2| 5T o
TR G2 G SO S A 432 A6 AR G+ 5116 ot [FFg WHE (A
(T D *1fY)| (SN S5 (qaf8) Toa @R fATs 3@ AT IS T 43 2
*fBFR T FHHIB T BT RS =R

. You are not allowed to keep mobile phone cr any other electronic gadgets including
calculator with you but geometry box is allowed.

(ST STMY PR, (VARA (FH A W (SO FAFHAF TGO 3
NS (72 SR TGOS I WS | =

- Adoption of any unfair means will cancel the applicants’ candidature. No request in this
issue will be entertained.

CPICAT W51 T WRTE FA AW (341 A T Q| QW @Iy
AT =T BT I A

. Before leaving the examination hall, you have to submit the OMR sheet to the invigilator
You may take away his question booklet after the examination. ;

S APETA 271 GII9 SR WL, (ST ARTHEA BUE OMR MG wrwy v =11 sy
Corg 23T A e ead S8 9ft T (s o b

_ Please read all the instructions provided in the OMR Sheet.
wrar% FUA OMR MG (SHT ST fRTIRE *frwr|
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Each question has four options (A, B, C and D) of answer. Please choose the

correct option and fill the appropriate circle with black ink ball point pen in the
OMR sheet.

AfSfS eroma Sraw sTf® REF (A, B, C 432 D) A ST FA AoD
gﬂ%mm a2 omn%maﬁzmqm%cmﬁw%ﬂwqﬁﬁ
AT

Questions

A.:l:cénverging beam of light is incident on a plane mirror. The reflected bea
will be -

TV WSS W A B0 ST0wet 7o wnofes 21 ofswfes 2 ofF
R -
A. a parallel beam of light (STRISATE ST AN BHR)
B. a converging beam of light (&SaT ST A BH2)
C. a diverging beam of light (ST*¥STal SIS A BER)
D. may be converging or diverging depending on the colour of light
(ST AEF TN ST I WSS A SR 20O AR

m of light

The unit pascal (Pa) may be written as —

STHI (Pa) IFIOIS (T O AP F1 T, ©Of I -

A. kg ms?

/B./n%wton/metre (BSRARIDED
C. joule/metre (G&/fNGH)
D. kgm's?

/3./ A force of 15 N is applied on a body and it moves through a distance of 60 cm in the
direction of the applied force. The work done in the process is —

3T /LS 15 N I3 I I 2ATA T T TS0 AYS IETH WSTCYL 60 cm
Y WMoY A1 IR AfFOCS (7 T 2W, ©F =1 -

A. 900 joule (G7)
B. 4 joule (G¢1)
C. 90 joule (TJ#T)
D. 9 joule (G*1)

/4./ Which of the following statements is true for specific heat capacity?

wrefiRe w1 Ty fATea (@ et siféws?
A. Specific heat capacity has no unit (STTfEFE ST (P JFF (WR)
,B. Unit of Specific heat capacity is ‘calorie/gram’
(@3 OITA G SIALR/ATT)
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A~Unit of specific heat capacity is ‘calorie/(gram.’C)’

; (S ICor g3 SIER/(A.°C))
- Specific heat depends only on the mass of the body

(WA w1y (T T4 ST 8o (ST )
A steel spoon feels colder than a wooden spoon in winter, because —

N ——— R s (s e R Ll

A. Steel spoon has a lower temperature than wooden spoon
(FBt=1a 5T6 97 @ FI0HA BT (BT FH)

B. Steel spoon has a lower specific heat capacity than wooden spoon
(BT 5T 3 WTHAFS BT FTHA GINCEA (BTN F)

_. Steel spoon is a better conductor of heat than wooden spoon

(BT BTG BILHF BINTEA (GTH B AR

D. Steel spoon contains less heat than wooden spoon
(FSBTTR BTITE FICSHF HIACHS (BT FN O WMR)

After combing your hair if you take the comb near some pieces of paper, the papers
are attracted by the comb. This happens because —

Wﬁwwmﬂaﬁ@ﬁmﬁsﬁaﬂmm@mﬁmcm
PG PIAGES B ST FH| I T~

“Comb and the pieces of paper gets oppositely charged
(B 8 FINMTR JITA T IS I RS 2H)

B. Electric induction polarizes opposite charges of every piece of paper at its two
ends (SfGS WA G TG ST GRS [AAAS SRS AT
CATF A A RIEE G2 2AMTS 5T M)

C. Gravitational force of attraction acts between the comb and the pieces of papers
(BT 8 FINGR QRLATA W& N2FF 31 {33 F1A)
D. Magnetic force of attraction acts between the comb and the pieces of papers

(%ﬁﬁewmmmmquaaﬁwm

Two containers A and B in a room contain water at room temperature. The
temperature of water in A is raised by 5 degree Centigrade and that in B is raised by
5 degree Fahrenheit. Which of the following statements is correct in this context?

47 W@ A 4R B 70 M AR SO Gl AR A-(S TLeTd B9 5 fOfY
CHRBLAIG 32 B-(S 5 13 TIRNZEG I T =41 | 92 ePIH fAed (1 RYfSfe

537

A. Temperature of water in two containers have been raised by the same amount

ST GATA GRS 42 AT IAGIAT ZCAR)
“Temperature of water in A has been raised twice that of B

(A-(S BTATA TR B-A7 T BT ([QUEIR)

C. Temperature of water in A has been raised by 1.2 times that of B
(A-csamtzfmw B-<I7 (6T 1.2 @ I (TMR )

D. Temperature of water in B has been raised by about 0.56 times of that of A
(B -4 GTFTA TR A-T3 QTN 21T 0.56 BT I (VTHCR)
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A glgss rod rubbed with silk becomes positively charged while silk becomes
negatively charged. This happens because —

%ﬁmmﬁa%mﬁwﬁws%wwmmﬂm

A. Glass gains electrons lost by silk

(% (1 SEshA e wan ool #ie a2 #ta)
B. Glass gains protons lost by silk (57 (3 (B~ zram (lesfd #l6 a2 39)

7 C. Silk gains electrons lost by glass

(P16 (¥ AEAS{ASE Ay e e 52 Fa)
D. Silk gains protons lost by glass (P16 (7 (B zram el 5 727 304)

A ray‘of light passing through medium-1 is incident on the surface of a transparent
material (medium-2) at an angle of incidence 30°. Which of the following statements
is correct if the angle of refraction is 50°?

WIETN-1 49 W47 T QIow q3f8 Wtea 3 J5f6 7oz oMudd (WHrH-2) s 30°
(BT W5 2| SR (BT 50° = A7 (1 33feft i3 w2

/(‘.‘"The refractive index of the medium-2 with respect to medium-1 is greater than 1

10.

(WIETN-1 G TS WET¥-2 9 A= 1 97 Q)
B. The refractive index of the medium-2 with respect to medium-1 is less than 1
(WHTN-1 g7 ST WHTN-2 9 AT 1 97 )
C. The angle by which the ray is deviated from its path is 40°.
(CT (1Y BT A OTF *1Y (S [AGTS T ©F 24 40°)
D. The light-ray travels faster in the medium-1 than in medium-2.
(SACETE-AM WETN-2.49 (6TT WHIW-14 TS IV FLH)

A piece of stone is thrown upwards. It begins to descend after attaining certain height
because —

G STATAA BRI oA s rswsr a1 2471 46 i Tsoor W =
TS BT B PIET -

A. the stone is a solid body and not a gas, so it comes down.
(V1R I FIEN TG 43¢ 01T ¥, 12 4fts TG ([0 =)
B. this is a rule, anything goes up must come down.

(4fS fB e, 71 Py BofTa T O W12 A6 AIS )

_ £~ the gravity of the earth is always pulling it downward.

4

(23t Memdey =S qr S RIes At BTR)

D. air resistance does not allow it go up indefinitely

@A At B SRHBPITETT Gy G (0O (7 )

Two plane mirrors are kept at right angles. A ray of light falls on mirror-1 at an
incident angle of 8. If it emerges after being reflected in mirror-2, the deviation of light

ray is —

mmwﬂﬁwwmmlmﬂwﬂewmmw-m
o) A 4fE 712 4 AfEHEAS 28TR *1a RS 7w, Sra wers A Rps
5 —
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15.
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A. 150° - 29 B. 90° + 28 C. 180° D. 180° -8

unks of largé

Icebergs are found to float on sea close to arctic area. These aré chunks t
ter is closes

Iloating ice. The percentage of these chunks that remain under sea-wa
(o

B st e STTE Rt S ora T| 98 SPT 99
WA TAHET 4G | B NS TS *o1ee] TYH-GLerd NG AP O1F FIOH
PRI LY 2 -

IA. 91 B. 87 C. 83 D. 79

A cuboidal block of weight 10N is resting on a horizontal table. The frictional force
between the block and the table is —

T8 WG GRET 897 10N STA JHf6 Tarplo 3 &7 SI3gH
R 33 3 (BfRTea wryy fEFamite oo 3 =4 -

A. 10N

B ON
C. More than 10N (10N g9 If¥)

D. Less than 10N (10N 49 ¥7)

A car travels with a velocity 10ms™ for 10 minutes and with a velocity 15ms for next
20 minutes. What is the average velocity of the car?

G315 MG 10ms™ @S 10 FAAB, 933 15ms™ @S *=[IS! 20 G HeIC=T DI
TGS FO7?

A. 13.3ms” B 125ms” C. 13ms" D. 15ms”

In a place where the atmospheric pressure is 76 cm of mercury column, which of the
following diagram is correct?

T8 T YR BT 76 G XSS BT ST | & FN Gy N6 (T
=f3fe Af3<?
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18.  Three cylindrical containers 1, 2 and 3 are of different sizes. All of them contain the
same liquid up to the level as shown in the figure. F, , F, and F; are the forces
applied by the liquid on the bases of the three containers, and P;, P; and P; are the
pressures exerted by the liquid at the bottom of the three containers respectively.
Which one of the following relations correctly compares the pressures as well as the
forces in the three containers? The dotted lines are given for convenience of
comparison of the heights of water column and diameters of bases of the containers.

RS S o1F 1, 2 43¢ 3 [foq WA ©7e FISore IS0 I HS
% w7 WG (FAE WA O] WR)| Fy, Fa ¢ Fy T TN S0
A S B S T YT I G P, P, G P, 371 TGN S0 M
W@%WWWHﬁIWW@ﬁ?WMW@WM
mm@ﬁm:mﬁ@fﬁawatmgﬁr@mmmem@ﬁz
SR AT T FAF SRUE G 6 (ST (1 @i OTIR MR

1 : 2

D
F1 > Fz < FJ and (-ga:) P.> P. <P,
F,>F,>F; and(83%) P,=P;>P;

F1<F2< FJ and(..‘.ﬁt) p-<p-)p)
Fy=Fy> F, and (93%) P.=P;>P;

cow>»

47~ Block A floats when placed in three different liquids of density D,, D, and D, as
shown in the diagram. Which of the following relations is correct?

318 35 A, [0 W@ St (D,, D, 932 D, 999 S°r) IS (TN (RATAT
(AR (SN O O | {6 =741 (3] ?

buoyant force
) . D bueyast force

/x/ooopoa
B. D;<D;<Ds
C. Dy>D;<D;
D. Dy<D;>Ds
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o ?
18.  Ice at0°C acts as a better cooling agent than an equal amount of water at 0°C. Why~

(P FBRUS S1e51 F537@ Gy 0°C BISTA GLeTd B120® 0°C BReTd ST
[WE QA IR @72

A. Ice at 0°C floats in water at 0°C (0°C 44 Id% 0°C 44 G4
B. Temperature of ice is lower than that of water (J90%4 w1
/Q 1.gm of ice at 0°C will take 80 cal of heat before melting to 1 gm ©
(0°C STSYNTATY 1 ST 94, 0°C SISYNTATH 1 4T et *1fdTS 20 80
O (FY) o
D. Ice has greater volume than equal amount of water (FqTPd e T .

QAT WIS 5Ty (3f#)

©I)
GiLeTd B0 PX)

f water at 0°C.

.)( A metallic plate with a hole is heated, then the area of the hole will =
M8 516 7% 91 417 (2B TuY FA %A, GIECE MG (FAP ~

A. increase (3@ M)
wB. decrease (¥ MJ)
C. be same (432 YF()
D. initially increase and then decrease (T 3% 432 STA*A 17 1)

20. The velocity-time graph of a body is
shown below. In the graph, maximum
and minimum accelerations have
occurred in the portions -

g6 I/I @ISTNY @Ufoa o
(R AR | FAforE, (@ Wemsfare
S 933 ST T2 q60R ©f = - ~

Velocity (v)

e 4

A. BC and AB respectively (JYTEFTN BC 4<% AB)
B. AB and CD respectively (JTEIN AB 43R CD)

_©7AB and BC respectively (JEFTN AB .43% BC)
D. BC and CD respectively (ITERCN BC 4<% CD)

21. Match the statements in Column | with the correct answer from Column |l and choose
the correct option.

Column | Column Il
1. The salt obtained when a chemical change takes place 2
on the addition of iron to dilute sulphuric acid. a. Iron(lll)oxide
2. The product obtained during a physical change when
water o:nverts from a liquid into a solid. b. Heat Energy

3. The uct of the chemical change in keeping a
pollshedp:?o% nail exposed to the atmosphere. c. Iron Sulphate
4. A form of energy required for a chemical change. d. Ice
t of the chemical change which
5. The gaseous product 0 ge whic o At et

takes place during respiration In living organisms.




oYY W g9 &ff g ST
mwéﬁ?@ml ¥ &8ty v% a7 wf3e Swasf creme g3 Rrea

e E— ————————

S YN Y a8
1. (T 8 F1Y STEAPOIAE WIS ((2® 41 BT | a. Saa= (1)
AR s b & (0 7137 fe = |owRe
2. (1S TG Gl B (WF FOAANOA TAA |, roymfs ¥ |

3. ATHNS A4S AN SIS LA A4 JH0 ——
SfereT 1 (TR (NES (3 AN 13 e SN ]
4. TIPS AT G (3 40T (Sa HNAGA| | d . IAP Gg__
5. GITd 4T WTCE ST AT NS (71 AHAT | e . PIAA-GI%-
5B P = I

——

1-c, 2-d, 3-a, 4-b, 5-e
1-c, 2-d, 3-b, 4-¢, 5-a
1-d, 2-c, 3-e, 4-a, 5-b
1-a, 2-b, 3-c, 4-d, 5-e

22.  According to the reaction 2A + B — A;B, two substances, A and B were made to
react to produce a third substance A,B. Which of the following statements concerning
this reaction are incorrect?

2A + B — AB 03 RifEsa, fS ol A 933 B RIFE T AB {6 worT w1
Te o T G2 RfET iFs AnEks RYeF T @mit / (s @2

The product A,B shows the properties of substances A and B
(AB I A g B IR CIHES (A1)

(i) The product will always have a fixed composition
(B s g1 7 1YfS AF))

(iii) The product so formed cannot be classified as a compound
(o1f%® *mrAfBres s R (T3 S0 I )
Aiv) The product so formed is an element (ofSe G gfo ci=)

A. (i), (ii) and(4<g) (iii)
B. (ii), (iii) and(<]R) (iv)
C. (i), (iii) and(43%) (iv)
D. (i), (iii) and(43R) (iv)

23. Blood and sea water —
AT g9 Trad Gel -

A both are mixtures (Souz fime)

g are compounds (GG¥2 (%)
‘blood is a mixture whereas sea water is a compound

e CRUTTH STYCEA e 80 ()
is a compound and sea water is a mixture

g6 N9 a8 STYCHA G
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/2( During sum
mer, water kept | because of the
phenomenon of - Pt In an earthen pot becomes COO

MW.WWW«WW@T:WW«W@W-

A. diffusion QA=)
B. transpiration ( (H4=)
C. osmosis (WfSx=a%)

,/.D’. evaporation (?T%?ﬂ)
25.  Choose the correct statement from the following -
Frefafas @3S et s 53+ FR suw o7

A. Conversion of solid into vapour without passing through the liquid state is calle;’!

vapourisation (S%# WIETd WY R =1 5108 BIFAS A HoNSES P4 -

- 1S (& IrRteT= 3
B/ Conversion of solid into vapour without passing through the liquid state is called
sublimation. (7 SI3%E1d W&y ATy =1 5w ATA F - 4% *4fS
(& 31 =% SHe)

C. Conversion of solid into vapour without passing through the liquid state is called
freezing. (S4e1 WA%TA W fATH = 3108 AN SO MBS ST (F
O« q0)
D. Conversion of solid into liquid is called sublimation. (3P A A MBS
FATA T2 % (F I T GHNow)

26.  Hydrogen has three isotopes which are known as Protium (';H), Deuterium (>;H) and
Tritium (*H). Why are all the isotopes neutral in nature?

TGN (70 WEmere s, I onfoar (LH), fGEBREAT (4H)
g3 fBfSary ¢,H) Boma *fEfee| 92 TS WREMe*efFR aPfe A8fGe (@7

A. Isotopes have same number of neutrons. (STRDTILGINSATS T YTH AGEF

TP)
“JAll the isotopes have one electron and one proton, hence they are neutral. s

WECIEITE J30 2EAF 992 JBM0 (26 AR, 12 9 A=y

C. All the isotopes have one proton and one neutron, hence they are neutral. (TS
WTEEIoE 30 (25 432 M6 NG5 AP, O 98 [Bfdy)

D. Increasing number of protons in the isotopes make them neutral. (STRTSATCOI
@fFTS UL (NGB Ond F8fGe FF (O1e)

Consider the following statements. Which of these statements are correct?

e RS U R 7| JUE T (PG A5

(a) Both acids and bases change colour of all indicators. (SIS 33 19 HouR
TN AP

A% *A)

(b) If an indicator gives a colour change with an acid, it does not give a change with a
~ base T

27.

) o AT (TS SIFGA S0 78 RGN F0a o7 S
(A7 STY (TS AT ST )

sciencemaster.in 10
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_e) If an indicator changes colour with a base, it does not change colour with an acid.

@AW @@= RUE 9B WA Y 38 HfFISH B0 ©F A6 e S
A% HfFITEN BT )

(d) Change of colour in acid, and a base depends on the type of the indicator.
8 THAA 38 NfFIET fArferafba At Bom e 319)

A. Al four (6157 STesfe)
B. aand d (a dd2 d)
C.band c (b 932 c)
D. Only d (WYNTH d)

Oxides of non-metals are usually ~

WHGT WHROBE FAYETS -

__Al-Acidic (&)

29.

B. Neutral (2*1¥)
C. Amphoteric (Sw4
D. Basic (FI1Y)

Of the following which is a good conductor of both heat and electricity?

fAT53 (1B 1% & Bfored TR 2

. Diamond (27 )
//§/G~raphite (ATFIRG )

C. Charcoal (BTSCPIT )
D. Coke ((FTF)

/30/ Lead Nitrate on heating liberates which gas?

31.

32.

(TG TRCHLG O S{TH15 FACE (I N B 7 XH?

Al N, B. O, C. CO; D. CO
In the reaction: H,0.+ Cl, > 2HCI +O,, the reducing agent is —
4% fRAFTBre (PG [eIRS ad1?

A. Cl, @zoz C.0, D. HClI

A metal on reacting with steam liberates H, and produces metal oxide. The metal is —

MWW@uﬂwwmmmmﬁsﬁsmm:m
WEEG GeoF FA, 40 2 -

A. Hg Fe _£Na D. Ag

For tin plating on iron article the electrolyte used is —
(ATETA IR TGS TR STA1™ (HSTR G 17T Bfe fRTerfd == -

sciencemaster.in 11
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36.
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SnS solution (SnS H3)
SnCl; solution (SnCl, 53)
FeCl; solution (FeCl, B3)
FeSO, solution (FeSO, T3

oom>

; tively —
The number of cations and anions present in Zns(PO4)z are respec

Zny(PO), (S To% SO & STAINIAR 524 T -

D. None of these
A.(2.3) B. (3.2) C.(22)

Which of the following is a redox reaction?

fRafafs @mt gra-Remrs [RE
A. In the atmosphere, O is produced from O during lighting. =

AT O, (YTH O3 tofd )
B. The reaction of H,SO, with NaOH. (NaOH 49 STy H,S0. 49 faf=m)

€7 Rusting of iron. ((FITT¥ TAI6T 701

D. Evaporation of water. (Qits14 ElkalCER))

Which of the following should not be used in the laboratory preparation of hydrogen,
using zinc and an acid?

ﬁmmﬁ/m@ﬁ@zm:mﬁwmmmﬂm
>IN 2Efore TR FA1 Ofv® FW?

fydilute H,SO4 (F1Y H,SO.) (i dilute HNOs (T HNO:)
(iii) dilute HCI (FT9 HCI) }(IV) Acetic acid

~A Only (iv) (BYIT iv)

(B) Only (i) (¥ ii)
C. Both (i) and (iv) (i G2 iv 5%
D. (ii), (ili) and (iv) (i, iii S92 Wv)
On electrolysis of dilute sulphuric acid using platinum electrodes, the product
obtained at the anode and cathode will be respectively —

2B SfoeTR IITR SR 7Y TIPS WG S Ruerser Fa1 =
WTAIG ]S SIS T T FH X -

A. Hydrogen and Oxygen (TRENGH 38 WHGH)
B. Oxygen and Hydrogen 33 TRGITGA)

C. Hydrogen sulphide and Hydrogen RGO SETHIRG 32 TROGTG)
D. Sulphur dioxide and Oxygen (STTTPTH TR WIHRG 432 FHG)

2_6/ Which dissolves in water to give a blue solution?

TG O FAgS X et IO EIT B A7

A. Na;S;04 B. KoCrO,4 'C_ Cu(NO,), D. Zn(OH),

sciencemaster.in Lo
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39. Which set of characteristics describes a metal?
(A (IFETYE 93f0 g BfFs Ftar

A. Melting point about 180°C, soft, electrically conductive as a solid
(STETSTE &MY 180°C, NaAW, BfG1od wﬁaré i3 )

,,B. Melting point about 388°C, soluble in CCl, (ST 2T¥ 388°C, CCly4 ETZS).

C. Melting point about 801°C, dissolves in water to give an electrically conducting

solution. (STETATE ST¥ 801°C, Gl HIAY & HAtg® 500 Bfbe, fdaz #4 )

“D Melting point about 1400°C, insoluble in water, has electrical conductivity that is
low at room temperature. (STETRTE TH 1400°C, Gt# SA14], WA TRSrH AT
e fFafze Wy )

40.  Brass gets discoloured in air because of the presence of which of the following gases
in air?

e IO (P ST Gy 73l =07 T2
A Hydrogen sulphide (TXTHITGA SAHIRG)

_B. Oxygen
C. Carbon dioxide (FTIN TIEAH25)

D. Nitrogen (FTX(QITGH)

41. The greatest among the following numbers is —

63 ST O1SFR Wey JTS IO =4 -
A. 172 B.2/3 C. 3/4 D. 4/5

42. One 3-digit number 4a3 is added to another 3-digit number 984 to give a 4-digit
number 13b7 which is divisible by 11. Then the value of (a + b) is —

foq-T<TPa B SN 423 Wy WNIH6 fOF-WTHA ST 984 -4 SCY (WS
FACA HIE-WHA B0 SN 13b7 NS T, T 11 JAI [ROGY| O, (a + b)
g7 T = -

_xdo B. 11 C.12 D. 14

/d./ A certain number of badges were distributed among a group of students in such a
way that one particular student got = th of the total number of badges. And it is seen

that this particular student got 5 times of the average number of badges that rest of
the students got. Total number of students is —

DIOF 4F6 P GAE T JITSNA TSI FA1 TWR MO J30
@ (G ATGA W™ A 3¢ (741 (VT (57 (T ey IS AT S WAl
T T8 OIF GA 5 @° | & FICH (N6 BIE HeUy 4 -

A. 24 B. 256 C. 26 D. 27

sciencemaster.in a
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49.
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g';‘;sa’?‘?”.e“ number that leaves a remainder of 4 on division by 5, 5 on division by 6,
Vision by 7, 7 on division by 8 and 8 on division by 9is —

(PTCRT SN 5 BT 157 FATE 4 SIS AP, ew-aﬂaaﬁsamwm
7 RN S191 T 6 G A, 8 Tl S FACET 7 ST ACF 8 9 A ©
PAT 8 SN AMSH, JU FFHOY H2 YT T

A. 2520 _B.2519 C. 2521 D. 2719

The next number of the sequence — will be -

- MBS *raad! 72unf® =1 -

A.6 B. 11 C.6.75 D. none of these
Assume that V" N 40, Find the value of VI ¥1300 .« .

WA F9V13 605, V130 40, OIEE VI V1300 Y -9 W+ =& -

A. 36.304 B. 37.304 C. 36.164 D. 37.164

A drink vendor has 368 litre of Milk, 80 litre of syrup and 144 litre of frui} juice.'He
wants to pack them in bottles, so that each bottle contains the same quantity of drink,
and doesn't want to mix any two drinks in a bottle. The least number of bottles

required will be —

T TSt ferer g 368 FOR TY, 80 FiBR SR 8 144 G T T
mlﬁﬁmm@qﬁmﬁwmmmﬁf@@mﬂwﬁm«
ST A GFe G2 @O0 (F1F 2 & 2N NS F 7| PAACE A7
TV (IreTeTd ATTGN?

/\./37 B. 46 C. 47 D. 35

If the expression (11.98 x11.98 + 11.98 x M + 0.02 x 0.02) be a perfect square, then
the value of M is —

M-F (3 NITHE G (11.98 x11.98 + 11.98 x M + 0.02 x 0.02) -AIAG 1fa5f = =
7 —

A. 0.01 B. 0.02 C.04 /o/ 0.04

‘Some persons reside in each of two buildings P and Q. If 15 persons are sent from P
to Q, then the number of persons in each building is the same. If 20 persons are sent
from Q to P, then the number of persons in P is double the number of persons in Q.
The number of persons reside in building P is —

p @ Q 7fG AGIEZ PR AL TFF AF| 15 GAS I P (AF Q (S A T
12 {6 AMGTSR A WP W 2| VR R Q (A P (S 20 GRS I
=3 (4 P (G WALEA 5247 Q -4 AR 21 P (® WIqrea sigan -

A. 140 B. 90 C. 80 p/120

i ; 14
sciencemaster.in



50.

51.

sciencemaster.in

:’\ l::Iock takes 9 seconds to strike 4. In order to strike 12 at the same rate, the time
aken is —

(P 9BTS 4 5 T61 IGT® 9 FS WY A | JF2 I 8% e 12 6 o6
MGG (F ST A5 ©f 56 —

%33 seconds ((TFD)
B. 27 seconds (1T %D)
C. 30 seconds ((TTFD)
D. 36 seconds (CT{FG)

If two diagonals of a quadrilateral are given, then we definitely can construct a unique -

TfB SogTaa 7 T 2WE, O AFbESE (FETIE JH02 (T 5Ts W
Y o = -

A Parallelogram (STS{%)

e 4

B. Rectangle (WINOT34)
C. Rhombus (¥93)
D. Trapezium (QIffGaT)

1cm? is equal to —

1cm® SN —
A.$m3 B.;:;m3 C.1x10°m’ D.1x 10 m®
53 What is the value of m is —
VY225 + V6.25 93 W X -
/)9(2” B. 1.75 C.25 D. 1.25
54. The perimeter of a scalene quadrilateral ABCD is —

(B fITNAIZ QGG ABCD -7 ST -

_A" equal to (AC + BD)

55.

(AC + BD) -9 3TN
B. >(AC +BD)
C. <(AC+BD)
D. equal to double of (AC + BD)
(AC + BD) -99 fRBU ST
In a division, product of the quotient and the remainder is 24 while their sum is 10. If

the divisor is 5 then dividend is —

I S5 ST ST 8 SN GNP 24 J38 OIAA (Tr< 101 TR
SIG 5 T, OIRA OG0 —

o aad B34 C. 36 D. 38

sciencemaster.in 15
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mber is formed by

_digit nu
56. A two-digit number is equal to 60% of X. A new twoug:ger is equal to 160% of x,
reversing the digits of the original number and the new n
then the value of x is -
qﬁa'éﬂ P4 (T A
TR WFA B el x -7 60% J4 ! usa;‘i?:}m’i‘;_
ST TS WY BT x -4 160% 43 ST, SR x -
D. 72
5 B. 54 C.63
/6{ If 7*1=64. 3*9=144, then the value of 5°6 will be -
qfR 7*1=64, 3*0=144, B(Q 56 ~I W =T -
D. 121

9

59.

A. 22 B. 45 C. 101

An assignment is done by three people P, Q'and R. P altakes S T for e
complete the assignment but Q and R working together P omplete 28 such
completion of the same assignment. Then the time require

assignments if all of them work together is —

p.o,mwmﬁmmmm.szomawﬁmm.ﬁ‘ﬁooeg
mammmm|wmmﬂ28ﬁwm$ﬂ
ST S9N © =6 —

A. 140 hours(¥BT)  B. 160 hours(¥81) C. 120 hours(¥GT)  D.180 hours(¥7G1)

Among which of the following polygon has the equal number of sides and diagonals?
o7 (@I IRYGH AR 8 PO TRY STWR?

A. quadrilateral (BRR®)

B hexagon (VYY)

C. heptagon ((TEQS)
D. pentagon (EQS)

In which of the following triangles, the altitudes and the medians are equal?
[N67 @ (AQUGF Tl & VLT ST —

A, acute angled (STSRTIN)

B. obtuse angled ({H’WT&T)

_€ equilateral ((TIATR)
. isosceles

if ‘a’ is positive and a* - 62a’ + 1 = 0, then the value of (a* + 1/a’) is —
g’ QAP AN A€ o' - 628" + 1= 0 XA, (a° + 1/a’ ) R NN TW -
A. 648 B. 392 C. 488 D. 512

sciencemaster.in 16
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62. Which ngmber in the following represents the value of perimeter and the area ofa
square simultaneously?

gﬁﬁ%mﬂ:wﬁMammammmﬁm

A 121 B. 64 C. 25 /—D. 16

63. 1f 3" x 3 =3° then mis equal to —

3" x 3 =3 mII TN & -

N P & D.4.

64. The ratio of the length and the perimeter of a rectangular plot is 1:3 and the ratio of
the perimeter and the breadth of that plot is 6:1. What is the ratio of the length and
breadth of that plot?

GTE ST U1 @ AN WS 1:3 43 A & AT WL 6:1,
OIR0E (Fafcd (i) 8 2TEF WS L -

A 13 B. 6:1 c.21 _B12

65. What change is made in the area of a rectangle by decreasing its length and
increasing its breadth each by 5%7

G0 SITerEeEad idl 5% SN T IR axs%mmsm,m%a
Cr AT Fodl HFAEs 23 2

/A./(ﬁS% decrease (0.25% XT)
B. 2.5% increase (2.5% )
C. 0.25% increase (0.25% 3M@)
D. 2.5% decrease (2.5% 311)

66. See the following solid and find the number of edges of it —

ﬂmﬁm@wvﬁmﬁm:mmmﬂnﬁ‘fﬂm-

A5 B. 10 C.20 -D.15

sciencemaster.in 17




67.

68.

69.

70.

71.

bridge in 21 seconds. If the

A ftrain crosses a telegraph post in 9 seconds, and a it 8

length of the bridge is 260 meter, then the length of the tr

G3fE G afS Bferary e 9 crers 8 T OTRP 21 CPES
A1 % CTga oy 260 B 2W, B (BUAR 07 T -

_A195 meter (I5)

B. 200 meter (fBm=)
C. 220 meter (fG1A)
D. 250 meter (fNB14)

B
In a 100 meter race, A defeats B by 10 meter and C by 28 meter. In the same race
defeats C by —

100 B (G AfSTAReTE A, B (@ 10 BT 8 C (& 28 B *1ATS FLA| 3%
32 AT B, C (& To FNBNH IS FE ©f T —

—A18 meter ((IBR)

B. 20 meter (fNG)
C. 27 meter (fNB1R)
D. 9 meter (fBTR)

In an examination, a student scores 4 marks for every correct answer and loses 1
mark for every wrong answer. If he attempts all 60 questions and secures 130 marks,
the number of questions he attempts correctly is —

S A AT siffes TurEa G 4 799 (8T W Je T GOERA G 1
THA (6 (W8T =F| W (@ *rarwd 55 60 6 2ATII2 OV IR 130 V&
WG B0, O 7 To&F o057 e Gud fArafke o 26 -

A. 35 —B.38 C. 40 D. 42

To fill a tank, 30 buckets of water is required. How many buckets of water will be
required to fill the same tank if the capacity of bucket is reduced to two-fifth of its
present capacity? :

36 BIETE ©fS T G 30 IS LR ATAG, ¥R I-71oq Wraey SR
SR GBS FA W, O 97 0% B S I wer 7w qeife wrerm
TG XA, © T4 -

A. 65 B.70 C.75 D. 80

The most abundant protein present in hair shaft is:
A G =0 A AT 1 o= B qsume
A. Hemoglobin (RTT2nf3=)

B Keratin ((FA0)

C. Albumin
D. Collagen ((FETE)

sciencemaster.in
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72.

73.

74.

75.

76.
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Which of the following food sources has the highest content of lipid?

fRufafe @™ o st cre ordhy omid aoursg 2

A. Pulses (GT¥)

.~B. Butter (\¥¥)
C. Chicken (YaM7 wew)
D. Vegetables (™13 5af)

In moderate to severe cholera, the patient often experiences numbness in the limbs.

What might be the cause?

VR T SIfF I S 5 FAAS FYXS (AN 2E-ACH WG S S5 FLA 1 44
FRY H q©

A. Blisters appearing on the skin (6TGTH CPTHI 2831)

B. Allergy (TS 28%1)
€. Excess loss of water and salt, and resultant ionic imbalance (<1317 (21 WIfSd®

SR T 8 TN QfETT QA FTATY (MTZ WIANE ST fafgs 287)
D. lowering of body temperature ((RTZH ST®NTET 35 A18H)

What in your opinion could be done for one measure to slow down global warming?
By BT T 25 FACS (STR NS (FF I, 6 FAT (S AMTA?

A. more efficient crop rotation (W48 WFOII **1) SRS SOTST (RSH)
B. depending more on coal-based thermoelectricity power (PHII [N99 9

&F WIFe & Rda F41)
()./driving more cars on CNG instead of petrol or diesel (<3 i o B T

ORI 1 fSTaeTa IR AP M SR BIEICT)
@ obtaining more power from thermonuclear power plants (ﬂrﬁiﬂﬁ?ﬁ ICLI =R

cuTE W38 (@ e (R8w)

Which variety of rice would you prefer in order to harvest the crop in about three
months?

T AT W4y T (91 (5T Qi (1N GITOF 4N ™ P ?

T

A. Pankaj (*rF9)
B. Masuri (IPfd)
“C.Jaya (GH)
D. Ratna (740)

Coral reef contains a high proportion of which mineral compound?
s oA ga cafe wofrane (e «fAe cnoft as?
A Sodium carbonate (GG FIHAT)

AETHE
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7 . . ir called?
1. By which flame the fine solid or liquid particles dispersed in the air c&

ammmmmmm%m?

A. coagulum (s fyes )
B. dispersion (Regae)
_Lsuspensions (Rergw)
D) aerosols (grarTe)

it ?
78. Why would you prefer the modern process of apiculture over the traditional one
mﬂ!ﬁmﬁmﬁewﬁzmwmﬁaﬂmmﬁﬁ F7?

A. fixed honeycomb hive (CMETE FrSTC %)
_B< better yield (B¢ g o f)
+ Productive during rains too (I¥@Te1e Be = TH)
D. faster process (Fewz T M=)

79. What in your opinion is the major cause behind gradual disappearance of fishing cat,
the state animal of West Bengal?

(TR TS, A 33157 20 *f, IR T WA 4 FET B 2

A Indiscriminate reclamation of its natural habitat (97 2P ARPTETTA R
LR O e

)
B. Hunting by predators (13 s1éfitg XIqem)
C. Competition with other predators (W5 et enffica Sicer afSTaTeT)

D. Low breeding rate (fAmzma AGAA)

80. Eukaryotic cells are found in which organisms?
RGO Py nem Ay (= Sirarwa Wy 2

A. All prganisms (TS §3)
B. Organisms of the kingdom Monera (Sta1 I Gi7)
() Al organisms except the kingdom Monera (VAT A1) TSNS IS G7)

~DPSome more developed organisms of the kingdom Monera and organisms of all
other kingdoms (YT<R1 AGIA SASS RFg G &R W1y 73577 AT &)

81. Which of the external environmental factors affects conversion of milk into curd?

wﬁwmm@mmﬁm%mmﬁmﬁwmﬁw@

A. Environmental temperature (Sf3@0g SI°TaTaT)
B Relative humidity of air (I WI~1f wérer)
#C. Quantity of Lactobacillus (FETBRIEIS G sifrr)

D. Air pressure (I 5T%)

2. What is an organigm called, which transmits pathogens from an inf
g another healthy or infected person? ected person to

maa«mﬁwmﬁmwmnwmmm TR
Gare $ AT G TW? D

sciencemaster.in
20




sciencemaster.in

A. Host ((oTs%)

B. Germs (&ar9)

=€ Carrier (3%%F)
D. Vector ((&§9)

83. The ;:gndemic which got infamous by the name “Black death” was spread by which
agen

(Y SRR "FTH (B AW FUTS, (1S GfGTAEE -

A. Mosquitoes (™1 (YTF)
B. Spores ((3 (¥(F)

_€. Rats (7 (%)
D. Bees (WIf§ (¥(F)

84. In order to peel-off the jute fibers, the stems are immersed in pond water. What is the
purpose?
TE TOTARE G ABNG (& Ge fOfGea arar 231 46 Bt waea F41 247
A. Prevent the stem from rotting (6 (X FIGLF T5FI P4 G)
~Degrade the pectin by bacteria (B AT (AT )

C. Compact the jute fibres in a bundle (o8 SfFfF (TR (fF FAT)
D. Make the jute fibres more durable (9% @fFTS AT (GF52 F41)

}é Mature human RBC bursts when placed in water. What is its reason?

TS TS (P13 ISP G LT (06 TR | 7 F1ET SN2
A. Protoplasm of a mature human RBC is hypertonic to water (WTLI% TS @R

2T ST (ACI2GY GLeTd T~ SWSHHF)
B. Mature human RBC lacks a nucleus (ITaa RS (F1x® IS IS RoFasT

2T )
C. Protoplasm of a mature human RBC is hypotonic to water (T9{¥9 *fFTe 1R

TG PP (MBS ST FETH TLAL)
_D-~Mature human RBC has a brittle cell membrane (VAEA IS @RS ISR

(FTE] SIH)
Which of the following sentences does not reflect similarity between Rhizobium sp.
and Escherichia coli?

s @1 a8 ARSI 8 £. coli 4% HICHR N4 AP (F AfSHES S = 2
_#” Both are bacteria (4f6% PTG
(fBa% Frefis T W)

B. Both live in soil as their natural habitat
fireer&ifer epfy S3)

C. Both exhibit symbiotic relationship
D. Both often cause diseases in humans (5% ST WFCFA (0T 191 R @)

W of the leaves is different from the other three on the basis of the type of the
lamina?

frsa oIl (TS HEEeEa PRSI fSETS WY HTnaffa (W WEI?
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A. ﬁ' C.
TR s = ¢ Mango leaf
Eggplant leaf Rose leaf Radish lea o1
(RGBT *e) (CSTIFT®Y S1®T) (3N TS0

88.  Consider the two statements: : in the ovary
Statement |. Pollens from anthers combine with ovules In the .

Statement |I. The ovules develop into seeds.
Now find the correct answer:

fAt53 w20 3T (ST ce:

IS | SRR (AT A5 A7 TS fewrasa s fufers 2|
IS |1 f7s [Rafe 2o e tofF T3

G313 SIS % Bwafd @rg Wes

A, Statement | is true but Statement Il is false (3G | {3 &%
=B both Statement | and Statement Il are true, and | is the cause 0O

ITI 11 5% 3%, 932 I | T IF I 97 FA) . p
C. both Statement | and Statement Il are true, but Statement | is not the cause 0

Statement Il (3T | W IS || 552 5%, 5% IS 1| 97 F1AT IS | 7H)
D. Statement | is false but Statement Il is true (337 | G [P ITFI I 3%)

IS I §)
f 1l (IS | H

89. The epithelial tissue covers and protects our body surface and the organs. Which
shape is most suitable for the epithelial tissue to this effect?

WRAN FAT WNOHE (A T2EF OF WF [fS7 WA ST WRET 55+ IH WA
SITHA T5F1 FTA| IR YAV IS SATA G WIAN ST 75 (I Z0A SI6TH SITA?

/\./h/ard, long and tubular (G, #741 43¢ FETA)
B. elastic, flat, wide and thin (Y=Y, 511961, 58T WA *frwe)
C. soft and elastic irregular mass (8N &F TYNY SATSIHF fores)

D. soft jelly like (FIW (Giferd Wrer)

" Carrot stores food for future use, and becomes swollen. Whi
?, may be related to the characteristic features of carrot? hich cellular organelles

MGA SRS TGN YRIA T MY I Fro xy
mmmmmmmm,ﬂﬁ? MR (=A% 7PN

A. chromoplasts and leukoplasts (CFITNIETSG fPrSrarersg
(B) leukoplasts (FETFT2IG) il )
C. chromoplasts ((ZFICNISTG)

D. chloroplasts (GPITATSTE)

sciencemaster.in
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What should be the shape of the cells in plants that help in conduction of water from
root to the leaves?

MR CF (PPISf@ Yo (YT TSI Gl Hrerts ey 04 (18 (praasferg wngf® @wy
zow Bfow?

A. spherical (CSTETBIHIA)

l’tubular (NETHTR)

C. disc shaped (613f® wrpfta)
D. polygonal (IXGGIFA)

If you were a farmer, which of the following methods would you use after harvesting
to separate good quality grains from rotten ones in a heap of grains?

B IR FTH FIS 0T ATH, SR B35 SO 7 <A YU AT *HTAA] (4P
ST WA *ITHIA] WEATH FAS AR (FH GG J32d $A3?

~A. Checking the weight of the grains (*STTHINIR 3G *fA15F1 1)

B. Checking grains under sunlight for pores (STteTtaa s =Sy (AT 2 cafa)

C. Immersing the grains in water (*ISTTHIRT Gtel GfATH A7)

D. Sowing seeds and waiting for germination (1S ¥ P41 432 WGPLAMIHL BT
TOrHT 4

A pea seed fails to germinate if the cotyledons are severely damaged before sowing.
What may be the reason?

@R W 0 We Mo Aoerae @ @R TN Feas @ IGod
SEFTRTTTY TH | 9 FAT P} S MA?

A. the cotyledons supply food to the growing embryonic axis (Ao @Us Tore
Y] FAEHE AT FIIAE FH)

B. the cotyledons supply oxygen to the growing embryonic axis (Frae @rE
BSTS AHT FIFF ARG TIIAR IH)

C. the cotyledons perform photosynthesis for the growing embryonic axis (AoerasH
(TG BHTS AIHT FNCFA GF SAMAS 0T BA)

D. the cotyledons keep the growing embryonic axis warm (FGHASF FTHS T
Ty)

What is the purpose of administering saline solution to a patient on whom an
operation has been performed?

STAEIR 28T IS STIEEN (A S 2

A. to supplement the blood lost in operation
(CATZ SIATR*ITH Y 28 AT WO MERK T
B. to supplement the water lost in operation
(CWE!WWW!@WWWWW)
C. to supplement the salts lost in operation
AICA*CA W 2O FACTA WEF [T 1)
. to supplement both the water and salts lost in operation
(CRTZ STSICAICA 50 2OV G T 7137 GSTHA WS [ F371)
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< Whi . i?
/%/ hich of the Slatements expresses similarity between bacteria and fungi?

96.

(P IFAM a2y A QAT WYY 1] 3T BLA?

VAT all of them have cell wall (gt srtera camenla 76T=)

all of them have true nucleus (aUHE HPTeTa s AGIEH omw)
all of them are devoid of chlorophyll (4THA FCATAZ (BT .
all of them divide by amitosis

(TR SR ST Sy ey (e ASIGH F0E)

-» &

Compare the raisins before putting in salt water (figure on the left) to those an ho:r
after putting in water (figure on the right). To which process could you relate the
change after soaking?

IV Frsa =R Reafier w131 e ey 7w oo w1 O face 8% Renfimaf
TG I 01 GROT AR 77 F | WO 237 SH A A0 o1 BAT| Ged
(TR *1a RFfirrefes o3 <@g wbg, o1 0w (@1 Af Faied T=orf T2

oow

%ntry of water into the raisins (RFfirrafFE Wt oF FFR)

or.

L

B. entry of salts into the raisins (Fifirrefm W& 739 TFTR)
C. exit of water from the raisins (RFfiP1efE (3 T QAT (TR)
D. exit of salts from the raisins (FfiPrafE (2@ 7397 @RTE (1)

Which of the following organisms is different from the other three on the basis of their
classification?

R fSfEts fAtea Gieef™ T @mfE srefie gemry fom?

Yeast (256 Button mushroom - galmonella enterica Mucor (ﬁm
(CATOT APTFY)  (STTCUCHT T

Consider the two statements:
Statement |. The stem of most cacti has cells filled with slimy mucilage

Statement |I. The stem of most cacti store water inside of the cells of ";e stem
Now find the correct answer: !

farsa 726 3w (13 (4T
I | AR IO LA BI0E 3feer W@limum (™1 s |

: HWWWOWW
73 || e # : W4T O STy TR A0
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A. Staternent | is true but Statement |l is false (383 | (5% % I@T 1 §9)

~B. both Statement | and Statement |l are true, and | is the cause of Il (3% | TIF
57 1 oS B2 g2 7% | @ AHT |92 TE) ¢

C. both Staternent | and Statement Il are true, but | is not the cause of Il (IT I | I
B0 1 452 Gn, w757 | 92 179 7% | W)

D. Staternent | is false but Statement Il is true (3% | g 3% 7531 11 f5%)

In many experiments cells are often isolated from various organisms. Which feature
of the nucleus of the different cells could tell us with some certainty to which

organism it belongs?
AT Fwry Ao Giraa (v e ars A =) SR (BI0A fRGFATT (P e
% CABrS AT 77 583 (31 B (U0 8% (P (FSU TWR?

A ize and shape of the nucleus (ST WA WE WTTST)

~The number and structure of the chromosomes (CZPTCTTGTTTA i< 1 WA SIFFS)
C. The size and shape of the nucleolus (FBfFSATTE WP 8 TIAST)

D. The number of nuclei (IS aT12 A2 4m)

In an electron microscope, live sample cannot be observed, what may be the
reason?

BAEGA AP Bra% A (7 W 7, 97 TR B WS °MA?

A. Live samples are too large(8138 31 33 75) '

»8. For a good observation, the specimen must be specially prepared in such a way
that the specimen dies (ST T2 *TH@STTE G BT TS {078 ST &4
P91 20, B TA Y D)

C. Live samples do not scatter electron (B3 T APEAS RS LA )
D. Live samples are transparent to electron beam (B8 TYA AASRA A IR

)

sciencemaster.in

sciencemaster.in 25




